Va? = 4 9, a 9] e Fotelet,

@D 2 Q -2 R +2

@ 4



2. e F 40 WS Vi avh O B avh & VF O B2 uh7
b A4S B 31299

@® V50 =5v2 @ V98 =62 ® 3V7= V63
@ 842 = V256 3 43 = V24



ch el A AAE FEe] ol At
719 ABCD 9] HelolA P, Q, R9] HolE
M 27} 2o, o] AR ol gdtel 4T 4
Qe B FAL Beret,

@ (a+b)? =d®+ 2ab + b*
@ (a-b)?=a*-2ab + b?
® (a+b)(a-b)=a®-b?
@ (
® (

x+a)(x+b)=x*+(a+b)x+ab

Q-

\b/

-8 -~

oo

Q

ax + b)(cx +d) = acx® + (ad + bc)x + bd



® a*

a
® a%(a-4)

@D a-4

@ a°



x% = 5x+6 = Q12of o}HA?

O (x-2)(x+3) @ (x-2)(x-1) ® (x-2)(x+1)
@ (x-2)(x-3) ® x+2)(x+1)



6.

Vi21 - /(-6)2 & AAtstofet,

D1 ® 3 3 5



150 — x 9] gtol 71

7.

® 2 3 4 @ 5 B 6

D 1






@ +0.49

O Vi+1
@ V3-1



10.

V0I5 & a5 ©) B2 e 9l 1, a © 7 Fohw?

4
O = @ — @ﬁ @ — ® =



11.

3 B
«/5(«/5—%)+(6+2«/§)7 V2
O -6 @ 4-242 ® 4
@ 4-36 G 4432




12, x(x-1)(x+2)(x=3) = x* + ax® + bx®> + cx WA F5a, b, ¢ &
a+b+col L7

@D -3 ® -1 @ 2



A ¥ —-5x -6 2x2 - 3x -5 9 352 AFE T F ol

&

13. o

A7}

B x+6

B x-6 @ x-5

@ x+1

@D x-1



14.

23 %552 -1.23x452 &

3 120

@ 140

Axtshd 1.23 x| |

B 160



15. (2-1)(2+1)(22+1)(2* +1)= 7tHs] o}H?

@D 63 ® 65 A 127 @ 129 B 255



16. tf

@ (15a% - 15a)m?
@ (15612 — 861)1’112

® (15a® — 8a + 1)m?

_---oam- - _
-
1m
o ~N— N
N . he
N N * 5
\_,/
1

@ (15(12 - 9(1)1112

@ (15a® - 9a + 1)m?



17. x+y=9, xy=3 4 o, x2 +y? —xy 9 &2?

@D 52 ® 56 3 60 @ 72 ® 80



@ (a+b)(m +n)(m-n)
® (a-b)(m+n)?
® (a-b)(m—n)?



19. (x-3y)?-2x+6y+ 15 A5EsliotH?

@D (x-3y-1)2 @ (x-3y+1)2
® (x+3y-1)2 @ (x+3y+1)2

® —(x+3y+1)?



20. x=2+ V2, y=2v2-3 2 o}, 3x2 - 10xy + 3y* &] Z-S F5}H?

D 89 -31+2 @ 89-32+2 ® 89 -332
@ 89 — 342 ® 89 —3542



21.

2< Vx—4 <3< WHE

D 2 @ 4



22. Thg F SA4] ek o), 7P B Gl 4

3+ \/37 2\/§_1’ 1+ ‘/57 ‘/§_23 6—‘/§

D 3+ V3 @ 2v3-1 ® 1+ V2
@ V3-2 G 6- V3



\/_
2V3+6V3
V2

of gl
| 7 He s
s

@
-6
B =10



24. Ax*+36x+ B = (2x+C)? oA ¥ A, B, C 9] & F5HH?

D 4 ® 9 B 81 @ 90 B 94



25. Zol7}52cm ¢l

2 72 A9 A= e @ W) ol7t 2t aem
et bem Q1 AAYY T 7HE TEQAT o] o, & AR 9] Hlo] 9]
ol 109em? A o, Wolel A& HotH? (H,a>b>0)

@ 7cm?

@ 49 cm?2



